In [1]:

In [2]:

In [3]:

Out[3]:

In [4]:

In [5]:

Out[5]:

import matplotlib.pyplot as plt
import numpy as np

import pandas as pd

# UESDDS A TS UM 32D

 —HRELE 01 ZERL
T=10000
RN=np. random. rand(T) # T EDEHMEZRESETTLAIZT S

RN # ARShI-ELHZERD

array ([0. 96403361, 0.31944383, 0.13203803, ..., 0.98653883, 0.73792676,

0.0096183 1)

# MMEER NI T LTHER

plt. hist (RN,
range=(0,1), # IEZIETE
bins=10, I RSB EERE
color="blue’, t BEIEE
alpha=0. 5, tBOES (0~1)
ec="k') # EICHEEDTH S (k=black)

plt.hlines(T/10,0,1,color="red")
plt. xticks (np.arange(0,1.1,0.1)) # x#Ho EE%
plt.show() # {FHFEHRERFLAGL
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# EAMEE

RN.mean(), RN.std(), RN.max(), RN.min() # IEi&{E 0.5, srrt(3)/6=0.2886.. |,

(0. 4998482055156706,

0. 2862531299255897,

0. 999851908852905,
0.00010907162864903786)

1,

0



In [6]: # MxEELZHETRDHD
Y, X, _ = plt.hist(RN,
range=(0, 1),
bins=10,
color="blue",
alpha=0.5,
ec="k') # ERRYSLOD x Ehé y HOKEZHLE
P=Y/T TEHY 2 HYUTUE T TEH-THAESR P IZEHT S
P

it

Out[6]: array([0.0962, 0.1011, 0.0988, 0.103 , 0.102 , 0.1004, 0.1015, 0.1028,
0.0969, 0.0973])
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In [7]: # HEXEEDORFR
x=np. arange(0.05, 1.05, 0.1) # 0.05 M5 1.05 =T 0.1 ZNADEFH (F=FEL. LAIXEEFLZLY)
plt.bar (x, P, width=0.1, color="violet’ ,ec="black’)
plt.hlines(0.1,0, 1, color="red")
plt. xticks(np. arange(0,1.1,0.1)) # x EOEEE
plt.ylabel ( Relative Frequency') # vy EHDS )L

Out[7]: Text(0, 0.5, ’'Relative Frequency’)
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In [8]: # BoNf-—#HEE RN #£L &L Taa VRITICERT S
Coin=[]
for x in RN:
if x<0.5:
Z=0
else:
Z=1
Coin. append (Z)
Coin=np. array (Coin) # 7LAIZLTHL EEFR OEBEMST-TEHBED I A %)

In [9]: # RN, Coin #H B %<

In [10]: # EXFI T L

plt.hist(Coin
range=(-0.5,1.5), # lBZ¥ETE
bins=2, i R ERE
color="red’, t BEIEE
alpha=0. 5, tBORES (0~1)
ec="k') # HEICHHEDIT D (k=black)

plt. xticks ([0, 11)

Out[10]: ([<matplotlib. axis.XTick at Ox1df90adcc70>,
<matplotlib. axis. XTick at Ox1df90adcc40>]
[Text(0, 0, '"), Text(0, 0, "))
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In [11]: # ROEIHOBEHEEL
s =0 # #MHE
S=1[]1 #Z07LA
for x in Goin:
s = §+X
S. append (s)
S=np. array (S) t 7LAIZLTH L EER
S

Out[11]: array([ 1, 1, 1, ..., 4988, 4989, 4989])



In [12]:

Out[12]:

In [13]:

Out[13]:

i ROBBOBRHFLELOR =
plt.plot (S, color="blue")
plt.ylabel (' Frequency’') # vy EDZ )L

Text (0, 0.5, 'Frequency')
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t ROBFAEEDRIFLEIL (KEDZER LN %29 5)
rf =0 # #HEAE
RF =101 #Z07LA
for i in range(T):
rf = S[il/(i+1)
RF. append (r f)
RF=np. array (RF) # FLAIZLTEL EEF
RF

array ([1. , 0.5 , 0.33333333, ..., 0.49889978, 0.49894989,

0.4989 1)




In [18]: # ROEMEEOBEELOER
plt. figure(figsize= (10, 6))

plt.plot (RF, color="blue") t 2f&R
plt. yticks (np.arange (0, 1.1, 0.1)) #y BHORE (FEFEEME)
plt.ylabel ( Relative Frequency’) ty EOSR)L

plt.hlines(0.5, 0, T, color="red")

Out[18]: <matplotlib.collections.LineCollection at 0x1df90cb0af0>
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In [19]:

Out[19]:

it ROBNEEORBFLEILORT (BREEO—EEHRY H9)

plt. figure(figsize= (10, 6))

plt.plot (RF, color="blue")

plt. yticks(np.arange (0, 1.1, 0.1)) #y B (FEEEE)
plt.ylabel ( Relative Frequency’) #y BOSAN)L

plt.hlines(0.5 0, T, color="red")

plt.axis ([0, 500,0, 1]) # x 8% 0~500, y#%E O~1 [ZHIR

(0.0, 500.0, 0.0, 1.0)
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In [16]: # ROBEXNBEEDOEBFELOR T (FFEEHO—HEEY HY)
plt. figure(figsize= (10, 6))
plt.plot (RF, color="blue")
plt. yticks (np.arange(0, 1, 0.1)) #y BORE (FHEEME)
plt.ylabel ( Relative Frequency’) ty OSSR
plt.hlines(0.5 0, T, color="red")
plt.axis ([0, 2000, 0, 1]) # x 8% 0~200, yE#%E O~1 [ZHIR

Out[16]: (0.0, 2000.0, 0.0, 1.0)
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In [17]: # ROBENFEEOREBFELOR T (FFEEHO—HEERY HY)
plt. figure(figsize= (10, 6))
plt.plot (RF, color="blue")

plt.ylabel (Relative Frequency’) ty BOSR)L
plt.hlines(0.5, 0, T, color="red")
plt.axis([5000,T,0.49,0.51]) # x #h%x 5000~, yEhZE 0.49~0.51 [ZHIER

# plt. yticks(np. arange (0.49, 0.51, 0.002)) iy B (FHEEIE)

Out[17]: (5000.0, 10000.0, 0.49, 0.51)
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